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1. Polynucleotide chain of DNA contains

(@)

(b)

(c)

(d)

2. The

a nitrogenous base, deoxyribose
sugar and phosphate group

a nitrogenous base, ribose sugar
and phosphate group

deoxyribose sugar,
and phosphate group

ribose sugar

a nitrogenous base and phosphate
group only

process of copying genetic

information from one strand of DNA
into RNA is termed as

(@)
(b)
(c)

(d)

translation

transcription

replication

mutation

3. AIDS is caused by the Human Immuno-
deficiency Virus (HIV). The transmission

of HIV

infection generally occurs

through

(a)

(b)

(c)

(d)

eating contaminated food and

water

transfusion of contaminated blood
and blood products

inhaling polluted air

shaking hand with infected person

BLS-E-EDF/67A

4. In human body, the cell growth and
differentiation are highly controlled and
regulated, but in cancer cells

(@)

(b)

(©)
(@)

5. Most
(@)
(b)
(c)
(@

there is breakdown of these
regulatory mechanisms leading to
formation of benign and malignant
tumors

controlled cell division and over-
production of genetic material
occur

RNA is mutated and produced in
less amount

DNA is mutated and produced in
less amount

viruses that infect plants possess
single-stranded DNA
single-stranded RNA
double-stranded DNA and RNA
double-stranded RNA only

6. Syngamy results in formation of

(@
(b)
(c)
(d)

haploid zygote
diploid zygote
non-motile male gametes

motile male gametes

7. Bleeding of gums, falling of teeth, fragile
bones and delayed wound healing occur
due to the deficiency of which one of the
following vitamins?

(@
(b)
(c)
(d)

Vitamin C
Vitamin K
Vitamin D

Vitamin B
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1. DNA i gifegfRasiiege S@ 1 #:1 qaraE
Bl 87

(@) TF AR e, fertadiEEE ek
3R BTERE HE

(b) Th EESHI &R, TEE T AN
HIEhe HHE

(c) Teoiiadiugaig wdwl, UgE WehU 3N
HIEhS HHE

(d) T Th AELISH &R X HTEhe TR

2. DNA % % oq[= (¥<) 4 RNA ®
el gE % wioeawr Wik @
FEaTd 87
(@) T
(b) I
(c) wichfaa
(d) Seafad

3. AIDS W HRU TEA FRIAISTRRICH STEE
(HIV) R ®M=I@: HIV vl 61 9T
forereh m1enm ¥ BT 7
(a) Hf HISH & ST TE HE H
(b) Tt Th T Th I H GO A
(c) wEftd e § e o

(d) Hfim =afs | g frem |

BLS-E-EDF/67A

4. wra TR B wfiE 9fg w@ fave sAfatEta
wd Frafim 2 ¥, feg S Sl &

(@) T Frmes Grfaie % e & 5™ @

geH (benign) W 3eH (malignant)
g (tumor) FH TIA &

(b) Trfa e fase v sgafies e
1 Afeare Bl B

() RNA Scf@fda @ ¥ T oed A7en 3
Iearfed B B

(d) DNA 3afafdd g1 § @ 3Feq Aen A
IeqTied BIe §

5. et A Gl FA A Al et |
ERIR I

(a) T T STl DNA

(b) A TGS A1l RNA

(c) <R TS T DNA 3R RNA
(Id) Fae A YD 9Tl RNA

6. THH-HEEH % URUITHEEET 1 el §7
(@) AT FHI
(b) e gt
(c) 3T=e ITHF
(@) e g

7. wgS ¥ THEE, a1 R, afert &
B uE v § 30 Prafafea 7 @ e
fererfie <) eft & €l 27

(@) Taafm= C
() faafm K
(c) fa@f@ D
(@) Tafm B

[P.T.O.
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8. When a piece of pure silicon is doped

with aluminium, then

(a) the conductivity of the doped
~ silicon piece will remain the same

{b) the doped silicon piece will become

12. For which one of the following does the

centre of mass lie outside the body?
(a) A fountain pen

(b) A cricket ball

n-type

c) the doped silicon piece will become (c) A ring
p-type

(d) A book

(d) the resistivity of the doped silicon
piece will increase

13. Which one of the following is a physical

9. Suppose voltage V is applied across a - change?
resistance R. The power dissipated in
the resistance is P. Now the same (a) Burning of coal
voltage V is applied across a parallel
combination of three equal resistors (b) Burning of wood
each of resistance R. Then the power
dissipated in the second case will be (c) Heating of a platinum crucible
{a) P (b) 3P
(d) Heating of potassium chlorate
(c/ P/3 (d) 2P/3
10. Which one of the following is not a 14. The pH value of a sample of
sémicondiictor? multiple-distilled water is
(a) Silicon (@) zero
(b) Germanium
(b) 14

(c) Quartz

(d) Gallium arsenide (c) very near to zero

11. A parallel-plate capacitor, with air in
between the plates, has capacitance C.
Now the space between the two plates
of the capacitor is filled with a dielectric
of dielectric constant 7. Then the value
of the capacitance will become

(d) very near to seven

15. Which one of the following is the most
characteristic property of an element?

(a) C (a) Density

(b) %‘ (b) Boiling point

(c) 7C (c) Mass number

€ 150 {d) Atomic number
BLS-E-EDF/67A 4
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8. va & fufe % wh ghs # Yghifem @

Tfed () Topen e 8, o

(@ wiea fafdsdt % ghe H =l
sqfEfdd it

(b) WIRa Rafersra =1 ghe1 n-wedl 511 ST
(c) wifea Raferer =1 gel p-wEdl = STEm

(@) WA fufers % g 6 wfaQeewa <
et

9. TH oif, T WfdY R W Seed V @A gl

wfiRiy & S &= P g1 o o wfdie, R
A % F1 IR R B, % TH GHIR FASH
) e Ve ST B T ged el A

B FTel1 el & feRaan grm?
(@ P (b) 3P
(c) P/3 (d) 2P/3

10. Frefafag 3 ¥ FH-1 G yed=Ters 77 27

(a) Tafes

(b) SHAEH

(c) TS

(@) Tferm AEAES

11. T garE dfge garte, fweeh ufgme & 6=

F g 3, H wfar € ¥ @ wafE B @
afEmett % o % T T WA, e
WEAYA® 7 &, ¥ W @ € | T G A
1 8m?
(@) C

C

m =

(c) 7C
(d) 14C

BLS-E-EDF/67A

12. Tefafaa § @ from Gefa-Fs a5 % 9

aa 87

(@) T3 U
(b) Tz & T
(c) T (a=m)

(@) TwH

13. Frfeifiag & ¥ =A-a1 T difds afeda 27

(@) HIES T ST
(b) Ll H Sl
(c) T e =l T FT
(@) TR FARe Rl T BT

' 14. =g-¥Gd S F TH T B pH AH @

(@) A
(b) 14
(c) YA % Afeifehe
(d) WA % AfIR

15. Pefl @@ @ walfes  sAfonafes o

frmffad § & w9-91 87
(@) T

(b) TR

(c) A GEAT

(d) HT AT

[P.T.O.
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16. There are two elements—calcium (atomic

number 20) and argon (atomic
number 18). The mass number of both
the elements is 40. They are therefore
known as

(a) isotones
(b) isochores
(c) isobars

(d) isotopes

17. Plum Pudding Model’ for an atom was

proposed by

(a) Antoine Lavoisier
(b) Robert Boyle

(c) Ernest Rutherford
({d) J.J. Thomson

18. What is the number of atoms in 46 g of

sodium-23 (N = Avogadro constant)?
(@) N/2 (b) N
fc) 2N (d) 23N

19. Which one of the following statements is

correct?
For the purpose of Census 2011

@) a person aged seven and above who
can both read and write with
understanding in any language is
treated as a literate

(b) a person aged eight and above who
can both read and write with
understanding in any language is
treated as a literate

(¢) a person aged nine and above who
can both read and write with
understanding in any language is
treated as a literate

(d) a person aged ten and above who
can both read and write with
understanding in any language is
treated as a literate

BLS-E-EDF/67A

20. In which one of the following States

is Loktak Lake situated?
fa) Sikkim

(b) Himachal Pradesh
(c) Manipur

(d) Meghalaya

21. The ratio of gross cropped area to the net

sown area is called

(@) cropping intensity

(b) intensity of crop rotation
(c) crop productivity

(d) cropping diversity

22. Which one of the following is the correct

sequence of occurrences of rivers from
Chennai to Kolkata when travelled by
road (shortest distance)?

(a) Krishna, Kaveri, Godavari,
Mahanadi, Subarnarekha

(b) Krishna, Periyar, Godavari,
Mahanadi, Subarnarekha

(c) Penneru, Krishna, Godavari,
Mahanadi, Subarnarekha

(d) Penneru, Mahanadi, Subarnarekha,
Godavari, Krishna

23. Which one of the following statements

with regard to volcanoes is not correct?

(a) Stratovolcanoes produce lava flows
that initially follow valleys but are
highly resistant to erosion.

(b) The surrounding areas can remain
highlands, lava ridges or mesas.

(c) Hawaiian shield volcances are
eroded by streams that form deeply
carved valleys with steeply sloping
heads.

(d) The system of streams on a
dissected volcano cone is not a
radial drainage pattern.
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. B TE—hfcdgn (AT AR 20) R AT

(TE FEE 18) B A el hl FAHAM
&A1 40 B | XY e B A FR A 87

(@) T
(b) WEATIAH
(c) THWIE

(d) |HEATHS

. T qm % foe ‘v gfen Aiew’ feush g

e R AT?

(@) TR AEER
(b) Ve s
(c) HTE TS
(d) o o ITHEA

. OfeTH-23 % 46 g # WA 6w T

2 (N = Tarmg! fHFare) ?
(a) N/2 (b) N
(c) 2N (d) 23N

19. Fr=fafaa & & F9-91 FoF T 87

SHTOAT 2011 % WESH 8

(@ W@ a8 iR R I I F PR
=feR, S fopdt oft o & wuw % WY 96
afit ot ke B, TER WWEN STl &

() o3 ad o TR afm ey W oW
=fer, <) forel oft w1 A wme & Wy 9g
PR fora gepar B, TIER THEN ST 8

(c) ad 3R el AlEE Y F B A,
I fE oft wmw #F wug % Wy 9g iR
g FodT &, HIER §9S ST 7

(@) T iR FEn U g FHR AN,
S et off s & e % oy 96 3R
o dehan B, HIER HR SITAT @

BLS-E-EDF/67A
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20

.21

22

. 23

. Frefafaa § & fra v # dees A fom w7

(a) Tafem
(b) e wam

(c) TR
(d) T

. FA WE-Shd o TRAfE IS &F b g

Y 1 FHF Il 87
(a) I HEAC]

(b) HEQ ek i <ffer
{c) HET IeqTGehdl
(d) g fafEea

. UFE QA HIcHEl S AE WeH " (R W)

Y w W, AT fH uwfa w1 wd A
frefrfiga ¥ @ ®9-91 87

(@) FoN, FEA, MaEd, 7EE, gaoRan
(b) F, ARER, M), FEER, gaoian
(c) U, FWT, MRS, HEWE, ook

(d) A, HEE, gavial, e, Fen

. sarerfadl % wey # frafafea § @ wR-a

YA TE AL 77

(@) A SETETEE AR Sl 3099 R 8,
N ey # mifEl 1 SgEW HA T,
g e 1 Tcfies Wiodie 2

(b) - % & I=YH, A& RS (heF)
e BT ® 9

(c) TATE TR Sarergdl el gR Wi
2, PR v eam & i Tl 1wl
Fehol wnfeaf st B

(@) Treh foreafta SaTemgEt Wi W uwed &
e T e srvare gfved T8 B B

[P.T: 0.
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24. Kwashiorkor disease in children is
caused by

{a) sufficient carbohydrates but less
fats in diet

(b) sufficient carbohydrates and fats
but deficient proteins in diet

(c) sufficient vitamins but deficient
fats in diet

(d) sufficient fats but
vitamins in diet

deficient

25. The mammalian heart is myogenic and
it is regulated by nerves. The heartbeat
originates from

{a) sinoatrial node
(b) QRS wave
(c) T wave
(d) hepatic portal system
26. The plant growth regulators are small,

simple molecules of diverse chemical
composition. They are

(a) carbohydrates, fats and proteins

(b) indole compounds, adenine deriva-
tives, carotenoids and terpenes

fc) fatty acids, glucose and vitamins
(d) vitamin C, vitamin D and glucose
27. Consider the electromagnetic radiations
having wavelengths 200 nm, 500 nm
and 1000 nm. Which wavelength(s) of

the following can make visual sensation
to a human eye?

(@) 200 nm and 500 nm
{b) 500 nm and 1000 nm
fe) 500 nm only

(d) 200 nm and 1000 nm

BLS-E-EDF/67A

28. A copper wire of radius r and length [ has
a resistance of R. A second copper wire
with radius 2r and length ! is taken and
the two wires are joined in a parallel
combination. The resultant resistance
of the parallel combination of the two

wires will be
S5
(a) SR (b) 4—R
4 R
(c) ER (d) =

29. A parallel-plate capacitor of capacitance
G is made using two gold plates.
Another parallel-plate capacitor of
capacitance C, is made using two
aluminium plates with same plate
separation, and all the four plates are of
same area. Ifp g and p, are respectively
the clectrical resistivities of gold and
aluminium, then which one of the
following relations is correct?

(@ G >GC,
b €
() Cpg=Copy
(d) G=0C,

30. A photon of X-ray has energy of 1 keV.
A photon of visible radiation has energy
of 3 eV. In this context, which one of the
following statements is not correct?

(@) The wavelength of X-ray photon is
less than the wavelength of visible
radiation photon.

{b) Both the photons have different
energies.

c) The speeds of both the photons in
vacuum are different.

(d) The frequency of X-ray photon is
higher than the frequency of visible
radiation photon.
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24, F= W HIRSRER A7 foFg ror 4 ger 87

(a) ER H VAW HEIeRge, Thrg a9 @l
!

(b) HTER H FEieEee R I61 6t qgiy 9,
Teorg W = et

(c) FTER T v T, foheg awn 6t et
(d) ITER T iy T, feg foerfiet &

25. HUfoe wew Uvfeme R efR g dfemet T
Trifoa B B 2e T FEl ¥ URY BT 87

(@) TR A8

(b) QRS FHfi®

c) T Sh®

(d) FFdrg faffesm 3ud

26. YU Y TEEes, fim qoafes g@@=aet &
BN, HIURY 37 B ¢ | & HA &7

(a) WwTETEEge, T R MM
(b) e DR, WA =geae, HfATgs R
i

(c) TEI-3TFdA, T 3R faerfim
(@) fFafE c, Fafim D ik e

27. W fgg-gmdm ffrol w fer fif,
fS9es a@esd 200 nm, 500 nm 3R
1000 nm & Fr=fdfgas & @ #9-w1/8
TR AMa A gi-egfy * wwa B/
Hha 27

(@ 200 nm 3R 500 nm
() 500 nm 3R 1000 nm
(c) FFA 500 nm

(d) 200 nm 3R 1000 nm

BLS-E-EDF/67A

28. TS r Wd @S [ % T dle % AR 1 WRRIY

R R dfs &1 w @ ar, R Bs 2r w
TS 18, T T § SR SH1 Rl W T
AR GESE A OSel T ¥ QA aRl %

AR GaeE 1 aRomd fedy fear gme
S

(@ SR () 7R

© TR @ 3

29. WM # B qigHS B AR Th GHR YiEeR

g s9rn T R, Sl g ¢ 71 O
iR wuR dfgwr duie, Ygilem 6@
giEeal # e S @ T g, e i
C, B T Wt # afgweT w1 T
THEE § R uft SR ufgemen & eEwa
TR B 9l "e iR ghifem Y Sgm
iRt FH: py 3R p, &, A Pt
A § -9 Ty b6l 87

(@ G >C;
(b) Cy>G
(¢) Gpq=0Capy
(@ G=0C

30. TH-FRU % Th BieH i SN 1 keV Bl §H

Tafror 9/ T $EE i F9 3 eV Bl T
g § fefafeg § 8 o9-a1 w9 g6 w8t
27

(@) TFE-THT Bl w1 aoTes, gy fafeto
HIEM % a0 ¥ H B

(b) BRI A A S fE R
(c) Trafa & SF1 wieHl f =@ i g

(d) THI-TRO HISHI A ST, g9 et
HIH Y Tl & it #)

[P 6.
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31. The optical phenomenon that is primarily

responsible for the

rainbow on a rainy day is

(@)

(b)

(c)

(d)

diffraction

interference

dispersion

reflection

32. With regard to ‘Project Tiger’, which one

of the following statements is not

correct?

fa) It was launched in India in the
year 1973.

(b) The objective of the Project is to
preserve the habitats and tigers
therein as natural heritage.

(c) The Project emphasized to ensure
viable population of tigers in India.

(d) There are no Tiger Reserves in

north-eastern part of India.

33. Which one of the following is not a
biosphere reserve of India?

(@)

(b)

(c)

(d)

Agasthyamalai
Nokrek
Great Nicobar

Great Himalayan

BLS-E-EDF/67A

observation of

34. Which one of the following statements
with regard to the Indian Railways is
not correct?

(@)

(b)

(c)

(d)

The Indian rail networks have been
developed throughout the Konkan
coast.

There is very low density of railway
lines in the Himalayan region.

The north Indian plain has a dense
network of railway.

At present, India has the largest
railway network in the world.

35. Which of the following statements with
regard to the Mediterranean agriculture
is/are correct?

1

The Mediterranean agriculture
is highly specialized commercial
agriculture.

It is intensive subsistence
agriculture dominated by wet
paddy cultivation.

It is a subsistence

agriculture.

primitive

Viticulture is a speciality of the
Mediterranean region.

Select the correct answer using the
code given below.

(@)
(b)
(c)
()

1 only
2 and 3
1 and 4 only

1, 3 and 4
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31. i % FR T Spugy % R wed & fau

w-H ynE g ger ®9 ¥ IweE 27
(@) Tad=

32. ‘U8 TR % ey § Fefafea § @
HH-H1 FHYT Gl Tef 87

(@ T8 a9 1973 § 9yra | ey fF 0
o |

(b) 38 TNEASH N I}y WHfaE I IHR
qHl FI, WHhe fwa & w9 H, I
TYH TG T R

(c) 9 UHASHT 3 9 § Sl il SfeHed
AR GHR=d i Ao ol

(d) ¥TRA % Q@R 90 ® F15 TR NoE @
H

33. Ffafas # @ wW-w sHarsa wifdm & Ira
T R

(a) STTEATT
(b) kE
(c) 12 T

(d) Wz feHeEH

BLS-E-EDF/67A

34. W™ T & =y 1 Fmfafaa & 9 #E-w
HY HEl TE 87

(@) GFIU HIEU G2 T LG I F "2aeh
Tormftra &) gat 21

(b) Teoe™ &= H i@ @Al s el 55
- FH B

(c) JW YRA & Harl &7 ¥ Iee H AT
oA B

(d) FGHH H, YR % U9 fava &1 ge® 2@
EGEEECE R

35. yHeErHY $U % ey # frefafes § 9
-1 /H o TE B/87

1. eErRE R sfaffe e s
7l

2. W8 oA Shea-fafe wfY g, e emd
g7 il Gl il 9HEaT g

3. 9% U [ad staa-Frate w7

4, SRR, qUUEIHE &9 R U
e B

= fiw T 2 w1 wE = wd I gh)
(@) Faa 1

(b)) 23R 3

(c) Had 1 3 4

(d) 1,334

11 [P, T: O.
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36. Which one of the following statements

with regard to the winter solstice is
correct?

(@) The South Pole experiences
24 hours of darkness.

(b} It occurs on June 21.

{cc The . North Pole experiences
24 hours of darkness.

(d) The Sun is at aphelion.

37. Tropical evergreen rain forest biome

provides optimum environmental
conditions for the growth of plants and
animals. Which one among the following
statements regarding this is not
correct?

fa) It has heavy rainfall and high
temperature throughout the year.

fb) This biome is also called mega-
thermal biome.

() The evergreen rain forest biome
extends between 10° N and 10° S
latitudes.

(d) The maximum development of this
biome has taken place in central
and southern California, and north-
western coastal lands of Africa.

BLS-E-EDF/67A

38. Tsunami waves are the undersea

occurrence of earthquake exceeding
75 on Richter scale. Which one of
the following statements regarding
this is not correct?

fa) It often generates strong waves.

(b) The Pacific coasts are most
vulnerable to Tsunami waves.

() Tsunami waves are also called
high-energy tidal waves or seismic
sea waves.

(d) Tsunami is a Latin word.

39. Which of the following statements with

regard to cloudburst is/are correct?

1. It is defined as sudden localized
very heavy downpour with cloud
thunder and lightning.

2. It mostly occurs in the hilly areas.

3. It results into very high intensity
of rainfall, i.e., 250 mm-300 mm in
a couple of hours.

4. It occurs only during daytime.

Select the correct answer using the code
given below.

¢ 1,2 and 3
(b) 1, 3 and 4
{c) 2 and 3 only

(d}) 2 only
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36. YA @ & Wy § frefaflag § @ 38. ¥4% & 9 g Wha W 75 ¥ Aaftm
HH-H HoF TE BY EFFY 3T 1 AT I gAH a8t FEd §1
oy ® F=fafeag & @ s9-a1 $om ad w8t
??
(@) <ol ga W 24 =2 F&T T E
() TR TH: HIH wel 3 Bl &

(b) FE 21 S H B R ' (b) TR HEEIRA q2 FAH el & feu
afe goar §)

(c) ST Yo W 24 W YT BT e B () Wﬂ%ﬁﬁﬁ—mﬁwﬂﬁm
YHEft GIR aG oft FEd B

(@ i, gE wEm (@) G (Tsunami) T f 7= 31

39. I ThIE (AEA HeA) & Ty A Frafafas &

e _ T HH-91/8 FUA v v/R7
B0 FPRRSILPITS RIBN) ol S S e 1 e e ol R e
it <t gfg & forg srgeper wafatoll saeand
WHE ® ¥ FEHE A dgd Wi
TEH R &l 39 ey § Tefafae § @ . s o5 e o e
HH-H1 HY T AL 27 glwm b el
2. g ftrerTeG: gRrE &1 § g 2
(a) TEH -3 AR oW ®l ¥ T S ' 3. T URumREEd Wgd dig Al (31iq
TR =1 T R TS & 9§ 250 mm-300 mm TH)
Bl ¢
(b) ¥ SR ) e A s e B R AR
= e 7T e 1 7@ W wE SW gRY)
(c) Wﬁﬁﬂf—ﬁﬁﬁﬁth“Nﬁthf*S (@ 1,233
A& o < e g B
(b) 1,3 3R 4
(d) 8 Sam & Afteay faem 7w w (c) Faa23fr3
cfiell  Ffewer qur Sl F
IW-afTadt a8F & § geT B (d) Fad 2
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40. Which one of the following with regard
to Aridisol, one of the soil orders, is
not correct?

(a) Lack of water for plants during
most part of the year

(b) High organic matter

(c) Large accumulation of carbonates
at depth

(d) Absence of deep wide cracks

41. What is the maximum number of states
of matter?

{a) Three
(b) Four
(c) Five

(d) Variable

42. The chemical properties of an element
depend upon

fa) the number of isotopes of the
element

(b) the mass number of the element

(c) the total number of neutrons in the
element

(d) the number of electrons in the
outermost shell of the element

BLS-E-EDF/67A

43. Which one of the following statements
is not correct?

(@) The cathode rays originate from
cathode and proceed towards the
anode in a cathode-ray discharge
tube.

(b) The television picture tubes are
nothing but cathode-ray tubes.

(c} The cathode rays themselves are
not visible.

(d) The characteristics of cathode rays
depend upon the nature of the gas
present in the cathode-ray tube.

44. The molecular mass of sulphuric acid
is 98. If 49 g of the acid is dissolved in
water to make one litre of solution, what
will be the strength of the acid?

(a) Two normal
(b) One normal
(c) 05 normal
(d) Four normal
45. Which one of the following statements

with regard to Jet stream, an upper
level tropospheric wave, is not correct?

(a) It is a narrow band of high-velocity
wind.

.\
25

"1l ey Te o TS P .
It follows the wave path

near
the tropopause at elevations of
8 km to 15 km.

S

(c) Jet streams are typically continuous
over long distances.

(d) In summer, the polar front jet
achieves its maximum force.
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40. Thfza@, s 91 vl § & T B, & fowm A

Frafafaa 7 @ #=-91 @ & 87

(@) = % fteera w9 § Pl F forg ar
EAle 2|

(b) it S g
(c) RS R FHIEH ol HAfeh F=TH

(d) &l DN R/ H A9E

41. =9 sEeunedt f rfteran e o RY

(@) dH
(b) =R
(c) T

(d) aiEcsie

42. Tordt o & Tawfe e e m R wRa

87

(@) A & GEETH] A G
(b) T I A &A1

(c) & T =gHl &l Fa gE&

(d) 7= F wEQ W} ww § geEgE B
e
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43. Tr=faRed # § SF-w Hue @ T 27

(@) Tt Fee oo famsia Afaem & %l
fortul, el ¥ IA Bl & AR A
W I et E

(b) eifesH o afaend iR Fo TE afew
e fortor Aferard §)

(c) eive fomedi wad gwa el Bl 2

(d) ¥ fEen i fwmad, Fee few
Afem d e T i wEk W el
ExGiled

44. TEENF I H AMEE FAAE 08 ¥ AR

T oitet Tererae o & R 9t & 49 g st
ST ST 2, ° 31 hY TeeTan = geie

(@) N HAHA
(b) TH A
(c) 05 M
(d) =R A

45, 2 4§, S Uh S0 R ) abee @ R,

* "o 7 frfafaa § @ W-m % Wl gt
27

(@) T& IH-I7 91 T TH Ghol o8 |

() I8 8 km ¥ 15 km H FE W
&N % ke T 9y w1 SATE HAl
2l

(c) <= R W S YRl W T ToriY WeER
= Gaan gt ¢

{.d) Hrsqerret § g amam Sie 3191 feehan
e T8 W o B
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46. The Gulf Stream is a poleward flowing
current in the Atlantic Ocean. Which
one of the following statements with
regard to this is not correct?

(@)

(b)

(c)

(d)

It is similar to the Kuroshio current
in the North Pacific Ocean.

It transports warm, tropical water
towards polar region.

This current is a major factor
in weather along the east coast
of the USA.

The warm water of the Gulf Stream
sustains the coral reefs of West
Pacific Coast.

47. Which one of the following about sugar
industry of Peninsular India is not
correct?

(@)

(b)

(c)

(d)

High yield per hectare of sugarcane

Higher sucrose content

Long crushing season

Most of the mills in the Peninsula
are located mainly along the east
coast

BLS-E-EDF/67A

48. Rand/ZAR’ is the currency of

(@)

(b)

(c)

(d)

Burundi

Libya

Sudan

South Africa

49. Which one of the following ports is
located on estuary?

(@)

(b)

(c)

Kandala

Marmagao

Kolkata-Haldia

(d) Tuticorin

- 50. Which one of the following statements

is not correct?

(@)

(b)

c)

(@)

Pavo cristatus is the national bird
of India.

Nelumbo nucifera Gaertn is the
national flower of India.

Ficus benghalensis is the national
tree of India.

Mangifera indica is the national
animal of India.
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46. TH HIH, FHANH HEEIR § TH Yaeg@ . 48, /9’ Fwl 6 71 77
TaIfed 9 B W gy ¥ Frefafea § 9

.Hﬁq—mmmaﬁwﬁ%? @ @

(a) & IT TG TEETR ) FORS 6 H (b) e
T gl .

(c) HsH

(b) ¥ TH, IWEEHE W W gdiE aE

£ SRS T2 @ TG

(c) USA % T 92 & 9@ & H18d & g 98 19, RN 3 B r

YR Teh T&F H ¢ Pl
(d) TTH WH H IV wid, ST wEa (@) e
HEETTE d2 hl JaTaNadl sl &9 :
m%] (b) rh-{-gqﬁ
(c) Hreshrar-sfeean
47. TEEdE YRGS = 3@ % SR H Fefafa
4 - 7 T 27 ) e

(@) T U TERI I I 50, T {8 striar s ol v A

(b) IER ThE W (@) SRd &1 UEE usht 9t fFerey v
b) WA F JRET HT 7
(c) =l TS (HaeH) afy ! N

(c) RA &I LA I FEHT S99 ¢ |

(d) wEEN T Al et gerd: . @@ %
oy @ & (d) WG 1 TEA 9 Aot 3ieHT |
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51. Which one of the following statements is
correct in relation to the GST Bill passed
by the Rajya Sabha in August 2016?

fa) 1t will replace all central taxes,
duties, etc., only by a single tax.

(b) It will subsume central as well as
State taxes, duties, etc.

fc) GST will be levied on alcoholic
liquor for human consumption at a
uniform rate of 25 percent.

(d) Petroleum and petroleum products
shall not be subjected to the levy
of GST.

52. The sensitive information leaked in
August 2016 concerns which one of
the following defence platforms of India?

{a) Fifth Generation Fighter Aircraft
(b) Combat Helicopters
(c) Submarines

(d) Unmanned Aerial Vehicles

53. How many medals were won by India
in 2016 Summer Olympics?

(a) One Silver and one Bronze
(b) Two Gold
fc) Two Bronze

(d) None

BLS-E-EDF/67A

54. India became a member of which one
of the following in 2016?

fa) Non-Proliferation Treaty
(b) Missile Technology Control Regime
(¢) Nuclear Suppliers Group

(d) Wassenaar Arrangement

55. India signed an agreement in 2016 to
develop a strategic port in one of its
neighbouring countries. What is the
name of the port?

(a) Chabahar
(b) Gwadar
(lc} Hambantota
(d) Mongla
56. Which one of the following statements
is not correct in respect of the

South Asian Association for Regional
Cooperation (SAARC)?

(@) Its Headquarters is located in
Kathmandu.

(b) China is the only country with an
Observer status in SAARC.

(c) The First SAARC Summit was held
in Dhaka.

(d) The Eighteenth SAARC Summit
was held in Nepal.
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51. 3T& 2016 T Us9 991 g1 9IRa 6T 7Tq GST

foduw & vy § frafafas 4 @ R-w
FY Tl 87

(@) 9% Ut F9 A, Yooh! A H Faa
Teh Tohed L 9 gt som)

(b) TEH FE h WA-HY T H B, JYoh
anife oft wfFafera &)

(c) WHE IUHFT ¥ YW W 25 Ufaea H
TFHHHE & ¥ GST T SITe |

(d) Yferm 3k Yafeem I GST i
IME * e 7E BN

52. 3TEd 2016 # TEEIgHId Haasfia §o I,

AR & Trfeiad # 9 fog & wiewid 9
grafed 87

() et et % werg fmm
(b) TETE AR

(c) wgfesrat

(d) wHElEd famm

53. 2016 % MpeiA NAffs H YRd o T

e S ¢

(@) TH A IR TH HE
(b) & EU

(c) B &=

(d) F9 i T
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54, 2016 ¥ 9Rq F=faftaa § § s ge= a7

(@) TA-MfTRE dfe (T swer wf)
(b) TSR SIS hgiel IS

(c) TR e g9

(d) TEAR IR

55. 2016 & W4 4 394 U YK W & 1Y TH

qrie s foefia w9 ?g © wwE
| 39 seTTR W1 AW T ee

(@) wTEER
(b) RN
(c) TERRI
(d) TN

56. cftor TR &g |egrt e (SAARC) %

gy 1 frafifaa & F S9-m wuF 98 714
(4
(@) THE GEATH FEAG | 8@ B

(b) Faa = € T YA 2w B, "R SAARC
T qHdET 1 &1 A0 &

(c) W¥H SAARC RTeR H¥ieH @R # g3l
o)

(d) 3T3REal SAARC et ¥iiem “ue #
BT |

[P.T. O.

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

57. Which of the following statements about

the Ilbert Bill (1883) is/are correct?

1. It proposed to grant limited
criminal jurisdiction to native
officials.

2. It proposed to grant complete
civil and criminal jurisdiction to
native officials.

3. The ©proposed Bill generated
opposition from England’s European
subjects in India.

4. In spite of opposition to the Bill,
it was passed without any
modifications.

Select the correct answer using the code
given below.

(@@ 1 and 2
(b} 2 only

fc) 1 and 3
(d) 3 and 4

58. Consider the following statements about

the Second Five-Year Plan :

1. It was drafted under the leadership
of K. N. Raj.

2. It ©proposed that industries
like electricity, railways, steel,
machineries and communication
could be developed in the public

sector.

3. The drafters found balancing
industry and agriculture very
difficult.

4. The  drafters found balancing

industry and agriculture really easy.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2
(c) 2 and 3
(d) 3 and 4

BLS-E-EDF/67A
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_ 59. Consider the

following statements
about the different meanings of ‘Swaraj’
as articulated by Mahatma Gandhi :

1. Swaraj is  intimately linked
with Ahimsa (non-violence) and
Satyagraha (adherence to truth).

2. Swaraj has two senses—one
© political and one beyond the realm
of politics.

3. Swaraj is something that requires
time and patience to acquire.

4. With determination, Swaraj could
be obtained easily and quickly.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2 only
(c) 3 and 4

(d 1, 2 and 3

60. What was/were the formative influence(s)

on the philosophy of Mahatma Gandhi?

1. Gandhiji was influenced by the
: 18th century Pranami sect that
advocated the unity of faiths.

2. Gandhiji was influenced by the
theosophists.

3. Gandhiji was an admirer of
the writings of Romantics like
Wordsworth.

Select the correct answer using the code
given below.

{a) 1 and 2 only
(b) 2 and 3 only
fc) 1,2 and 3
(d) 1 only
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57. 3o fadw® (1883) ¥ s ¥ Fifafas # A

H-1/Q B TEl B/87
1. 3o difm <ifes e, wrd
AftrpfEt 1 JeF = 1 TaE )

2. 3o 9 Rafoe ofR sifes srftrnii,
T ARERITE] il TeM 6@ %1 S\
o

3. 39 vt fades A e § ® @ e
% U ATTRE | oy 3= g3

4. Taoaes &1 falg B & SraR oft @ foe
Terelt aftada = arfta T mam)

= fog T e 1 T = Ed W g

(@ 13MW2

(b) Had 2

(c) 13R3

(d) 3 3R 4

58. fidta Gaedia A % AR 3§ Rt woE

Wﬁﬂﬂiﬁlﬁm:
1. o To TN & ¢ H $6HI YEY TR
Tera |

2. 30 wwE o1 5 foeefl, W@, w9,
TG 3R =R S8 S Yfsersh 9l o
Tamfa forn =md)

3. WRGER 4 e f% w@m oij iy A
HgeH ST g Hiod ¢ |

4. WEHR 4 Rl R I@m el sy #
e SHT 9Td H 3TEH B

I Horl § F HH-91/2 w1 2/E7

(@) FFd 1

() 132

fc) 23MW3

(d) 3 3R 4
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59. T it 3R 3=Eia wWus & faftm i &

sy A F=fefaa e w fomm Hifse .
1. ifgen iR gemE & 91y U gf+Ear 9
EEE]

2. TN & 3 ANYR T—TF THITas IR
T THIfT 6 &3 8 R (F) |

3. TS O W g, ¥ um A F fog
g 3R 4 EvEs g 2|

4. FHed & WY WS F ol AR wigar
¥ 9w v s a2

IE FET H A PA-A1/A T B/R?
(@) Had 1

(b) A= 1 3R 2

fc) 334

(@ 1,23R3

" 60. TEIHT TiH & dfdER W EFEES 9NE @91

o1/9?

1. s 184 € % wyumeh dwem @
yarfad & S STEeti /et it Thar
wredq =t o)

2. TS Safern & SHeR (ReEEifee) @
yofea )

3. Tt adwad SR w=seqEniedl
(AwifeEa) & oEq % 9viEs 9

= fow 71T %2 T WM = wd W gy
(@) Haa 1 3R 2
(b) HTA 2 3R 3
(c) 1,23M3
(d) “had 1
[P.T.O.

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

61. Which of the following statements about

the Shiromani Gurudwara Prabandhak
Committee (SGPC) are correct?

1. It began as the political wing of
the Singh Sabhas in the late
19th century.

2. It was formed in 1920 as part of the
upcoming Akali movement.

3. It was founded to reclaim control
of the Sikh shrines from the
government manipulated loyalist
committees.

4, It formed the Akali Dal to
coordinate groups (Jathas) to
reclaim control of the shrines.

Select the correct answer using the
code given below.

fa) 1, 3 and 4
(b) 2, 3 and 4
(c) 2 and 4 only
({d) 2 and 3 only

62. Which of the following statements with

regard to the speech of Mahatma
Gandhi at the opening of the Banaras
Hindu University are correct?

1. He charged the Indian elite with a
lack of concern for the labouring
poor.

2. He asserted that our salvation can
come only through the farmers.

3. He highlighted the plight of the
untouchables.

4. He promised to take up the cause
of the mill owners of Ahmedabad.

Select the correct answer using the
code given below.

(@) 1,2, 3 and 4
(b) 1 and 2 only
(c/ 1, 2 and 3 only
(d) 3 and 4 only

BLS-E-EDF/67A

63. To be eligible to contest election

under the Haryana Panchayati Raj
(Amendment) Act, 2015, a candidate
should

1. have a functional toilet at home

2. have payment slips of power bills
3. not be a cooperative loan defaulter
4

have studied minimum matricula-
tion irrespective of category

Select the correct answer using the code
given below.

(@ 1, 2 and 3 only
(b) 1, 2 and 4 only
¢/ 1,2, 3 and 4
({d) 3 and 4 only

64. Arrange the following Commissions

chronologically on the basis of their date
of setting :

1. The Second Administrative Reforms
Commission

2. The Eleventh Finance Commission
3. Punchhi Commission
4. Sarkaria Commission

Select the correct answer using the code
given below.

@ 4,2, 1,3
P 482 1
€ 3,2, 4,1
@ 3,4, 1,2

65. Who among the following won a

Gold medal for India in Men’s Javelin
Throw event at the 2016 Rio Paralympic
Games?

(a) Rinku Hooda

(b) Devendra Jhajharia

(c) Sundar Singh Gurjar
(d) Mariyappan Thangavelu
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61. FRMM TRERT Yo wilfd (SGPC) & o) §

Frfafed o & #F-8 %0 w87

1. ¥8 19+f ¥ & 3@ B fog aweft +
Uit g % w9 § AR g

2. U8 1920 H ATTHY 3fhIeh IHEeH &
A & &9 | o478 T8 off |

3. UER g TS-aI8 Fleh 5915 T8 IHRER
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g sreptelt o &R dfeh YR @
T aag form < w |

9 T T e A TN R HE W gF)

(@ 1,334

(b) 2,3 3R 4

(c) Faa 2 3R 4

(d) *aa 2 3R 3

62. 9 ferg forvafaene™ % y7RY W werem with

F 9mY % ey # efafea § @ $R-2

HYA gal &7

1. 3BH YRAY JaeHl W ARY ol 6
T Aeigll 0 AT et & wiy fe
I B

2. IRR R IR F@1 5 0 gRe e
oramt % g1 8wt B |

ITM gt it gdw R famy s feam)
I EAeEE % e miferRt % AR
%l IBM 1 T4 fazm|

A fou ¢ F2 WA R EE W g

(@ 1,2, 334

(b) Haa 1 3R 2

() a1, 23 3

(d) %aa 3 3R 4
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63. TN YuEd TS (FEeE) Afufed, 2015 F

ST g T8 Sl 9T o forg feee weamsft

1. % 99 9 W FHH H T TH =l a4
ey

2. % 9H oot ¥ foedt it symm wiiat
B! =fe

3. o WEHM HY7 H1 FhER (fewiex) 78
B =R

4. o gHaR Hfe T e e gam g
w1fey, =1 o8 R off o & a'a e
Bl

= o T e 1 WM W wE IW gh)
(a) %ad 1, 2 3R 3

() HFA 1, 2 IR 4

€ 1,2, 3314

(d) Faw 3 3R 4

64. FrafRaa a1 39 Teq ) Ty & nYn

T HITHATIAR Sqafedrd shifeg
1. T yemafes gum smim
2. ERgdl fom ™M

3. Y1 wmm

4. GIHINAT AR

i o 1T % 1 WA = wE W g
{d) 4,9, 1;8

(b) 4, 3,2
© 3,24,
(d 3,4, 1

’ b

N = =

L ]

65. fafafaa o @ g Rawrd 3 2016 & &

Yyt @t # gest % wren $e (Safm D)
T 1 @Yl Y9 HRd & fore sfar?

(a) T g

(b) <3 wEEN

(c) TR e ot

(d) "EEH orTEy

B, 10
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66. Which of the following statements with

regard to Panchayats in India are
correct?

1. Seats in a Panchayat are filled by
direct election from the territorial
constituencies in the Panchayat
area.

2. The Gram Sabha is the body of
persons registered in the electoral
rolls relating to a village within the
Panchayat area.

3. The Panchayats work on
the principle of constitutional
autonomy.

4. The State Legislature may by law
endow the Panchayats with the
power and authority to enable them
to function.

Select the correct answer using the code
given below.

(@ 1,2 and 3
(b) 2,3 and 4
fc) 1,2 and 4
(d) 1 and 4 only

following statements
regarding Indian federal system is/are
correct?

1. All States have equal represen-
tation in the Rajya Sabha.

2. Consent of a State is not required
for altering its boundaries.

3. There is no dual citizenship in
India.

Select the correct answer using the code
given below.

(@ 1,2 and
(b) 2 and 3 only
(c) 1 and 3 only
(d) 2 only
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68. Which of the following are the powers of

the Supreme Court of India?
1. Original jurisdiction in a dispute
between the Government of India

and one or more States

2. The power to hear appeals from the
High Courts

3. Passing decrees and orders for
doing justice in any matter before it

4, Render advice to the President
of India in matters of law

Select the correct answer using the code
given below.

(@) 1,2, 3 and 4

(b) 1, 2 and 3 only

(c) 1 and 2 only

(d) 3 and 4 only

69. Which one of the following is not a

component of Revenue Receipts of the
Union Government?

fa) Corporate tax receipts

(b) Dividends and profits

{c) Disinvestment receipts

(d) Interest receipts

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

66. WG ¥ UGl ¥ Ry ¥ Fefdfgs § A
FH-Y FHIA GE &Y

1.

o & H el fate-ge @ ey
T G U S € S R

M |1 I AfRdl 1 0 Few g, S
YemEd &5 % 3idid oW 9 feed Tm
& Fratems TmmEfaEl § sfigd )
JuEd gifsafie wEaa % e W
FH Fdl £

s faumssa, fafy o dwdE & 3
wfts 3R wiiteR 2 woha & S8 3 e
0 H GG q Gh |

H9 fiw 7T H2 w1 R W FE IW g

(@)
()
(c)

1,2 3R 3
2, 3 3R 4
1, 2 3R 4

(d) w1 3R 4

67. F=fafad 4 @ FF-w1/8 Fua wRdig gfiEEE
e F grery 1 adl B/87

1.

3.

TG 991 ® |l U= o1 wiaise g9
2l

forelt T <t dhett # e & fow 3w
% & "enld g 6 8l

R #§ <l Ariera & B

F= g Ty 52 w1 wEm R wE IW g

(a)
(b)
(c)

1, 2 3R 3
Fed 2 3R 3
FHad 1 3R 3

(d) a2
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68. ¥Nd % I=AGH MEE (i HR) it wfwal
frafafas & & $m-d &7

1.

TH 1 TH ¥ AfF T qU WA WER
% o= 5 faae & fufa 7 smifts
feremTia

I A & f9Fg e g 6 ui

T gug e e o Te A = e
% foru fh e emew o wem

faftr & wraftrg amelt § wRa & Ugafa
Y AT AT

F= fo g e wEE = EE I G|

(@ 1,2,33M4

(b) a1, 2 3l 3

(c) wEa 1 3R 2

(d) a3 AR 4

69. f=fifad § @ FF-w1 99 WHR 6l TFE
it 1 uew w87

(@) Tmfea o= wfiat

(b) TN YT T

(c) fafram wferad

(d) =TS ifeEr
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70. TRIPS Agreement pertains to 73. Which of the following statements about

(a) international tariff regime
(b) intellectual property protection

(c) international practices on trade
facilitation

(d) international taxation of property

71. The 7-6% growth rate registered by

Indian economy during the year
2015-16 is based on

(a) Gross National Product at market
prices

(b) Gross Value Added at constant
prices

fc) Gross Domestic Product at market

Bitcoin is/are correct?
1. Itis a decentralized virtual currency.

2. It is generated through complex
computer software systems.

3. The Reserve Bank of India
recognized it as a legal tender
in January 2016.

Select the correct answer using the code
given below.

fa) 1 only

(b) 1 and 2 only
(¢) 2 and 3 only
{d 1, 2 and 3

74. Hindustan Aeronautics Limited handed

over the first two indigenously designed

PREES and manufactured light combat aircrafts
(d) Gross Domestic Product at to the Indian Air Force in 2016. What is
constant prices the name of these new combat aircrafts?
() Marut
72. Which of the following statements about (5) Garud
the Trans-Pacific Partnership (TPP) .
is/are correct? (c) Tejas

1. The TPP was signed by 12 Pacific
Rim nations in the year 2015.

2. The TPP is likely to be a
game-changer in global trade as
member countries account for
about 40 percent of global GDP.

3. India is a founder member of TPP.

Select the correct answer using the code
given below.

fa) 1, 2 and 3
(b) 1 and 2 only
fc) 2 and 3 only
(d) 1 only
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(d) Pushpak

75. Consider the following statement about a

famous football player :

“He was diagnosed with a growth
hormone deficiency during  his
childhood but went on to win three
European Golden Shoes in his career.”

Who is that player?

{a) Andres Iniesta
(b) Lionel Messi
fc) Cristiano Ronaldo

(d) Zinedine Zidane
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70. TRIPS ®wgial foredt wwarfeer &7 73. fae#ig (Bitcoin) % ey # f=fefaa & @
HH-91/d FY L /7
(@ R 1. % & fredwa W 59 3
(b) & GFIRT T 2. T WRW FFgR HRSE JUfeE! g
; gfera fran sman #1
i "R 4 L 3. T 9% 7% 3 3 sHal 2016 § @
(d) THR H FAAUEE FUYUH T Y T F ®9 F HdT T§W A
A H= faw o g2 w1 T R Ed T g
71. 9§ 2015-16 % IRH WRAE Af=aw g/ <1 (@ Fad 1
ﬁﬁ76%ﬁqﬁa’ﬂ?ﬂ3ﬂﬁmw%? (b) mla?ﬂ2
(@) R AR FHA TER SR (c) a2 3R 3
(b) TOR $ivdi | dha Afafws o (@ 1,2 33
(c) SR ! T Hehel Tl I 74. fegmm wWes fafirs 3 @t w9 @
yefoua wd Tafifa foee g wom @ & werg
(d) TR it R R e e M, 2016 # Wi arg ¥ B WA T T
g fot 1 T w R7
72. TO-Afyfes wdwBm (TPP) & Wy H (@) W
FrfaRaa & & =F-w1/48 %= v §/37 (b) TR
1. a§ 2015 # 12 ¥fafes for wl s (c) ¥
o
TPP W g&d1aR fomam | P

2. U g9 § % TPP 3fvss =R #
fm ofeds (W-IwR) W@ @,

; k T i )
it e e 75. T & T e fewel & ey

ﬁﬁi?i@ﬂ =R #Iiﬁ& :
e 39 wEw 3T o R ﬁ;m_c;;m o B
: ‘e THH Aeqdl o1
3. W, TPP &1 Ush HEATIh H254 ¢ | S G ey B e it
Fr fiT T e 1 T W W S g 1 QbR Sftar)”’
@ 1,233 34 faadt &1 am =0 §7
(b) Faa 1 32 (@ W
(b) TomE e
(c) F23MR3 (c) Trfem e
(d) e 1 (d) FRRA Rrm
BLS-E-EDF/67A 27 [P 10,
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76. Which of the following statements is/are
correct?

1. In June 2016, the LIGO group of
scientists announced the detection
of a second set of gravitational
waves.

2. Gravitational waves were generated
due to merger of two black holes at
about 1-4 billion light-years distant.

3. Gravitational waves were inserted
due to collision of two white dwarf
stars at about 1-4 billion light-years
distant.

Select the correct answer using the code
given below.

(@) 1 only
(b)) 1 and 2 only
(c) 2 and 3 only

({d 1, 2 and 3

77. In the year 2016, the Government of
India announced a ¥ 6,000 crore special
package for the textile and apparel
sector to

1. create one crore jobs within three
years

2. create jobs equally for men and
women

3. provide tax and production
incentives for the entrepreneurs

Select the correct answer using the code
given below.

(@ 1 only

(b) 2 and 3 only
(c) 1 and 3 only
d 1,2 and 3
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78. Which one of the following is not an Inter-
Services Establishment?

(@)

Officers Training Academy
(b) National Defence Academy
(c) National Defence College

(d) Armed Forces Medical College

79. Which one of the following is a Peacetime
Gallantry Award?

(a) Shaurya Chakra

(b) Vir Chakra

(c) Yudh Seva Medal

(d) Param Vir Chakra

80. The Headquarters of the Southern Naval
Command of the Indian Navy is located
at which one of the following places?

(@) Karwar
(b) Kochi

fc) Thiruvananthapuram

Chennai

(d)
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76. Trafafaa § @ F9-w1/3 T ad /%7

1. ¥ 2016 ¥ I90FeH % LIGO &g A
Teclg aCTt & U fada ag=m it @
Y Hrom i)

2. T qon ft It T 14 faferm
wehTeT-a9 <l gt W A s el (black
holes)%ﬁﬁaaﬁwgﬁﬁﬁl

3. TEEE a0 @ 14 fafer weerr-ad
# g W I e I aRI H AR &
#ro e g8 off)

= o T e 1 W@ W wE W g
(@) Fad 1

(b) FaA 1 AR 2

(c) Fae 2 3R 3

(d 1,23MR3

77. 99 2016 W 9Rd GR A 99 3 9Rym &3 &

fau #6,000 e N w fwy W &
aor feefeag i ofi?

1. @ auf & +fiR & Hg Awial gha
oG

2. Y& R wfgenent & fou swreR it
st T g

3. JufEl # = R IdArT qeded YeH
F 2

= fog T e =1 WM W F@ W g
(@) Faad 1

(b) FHadA 2 3R 3

(c) Had 1 3R 3

(d 1,233
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78. Frefafed # @ $W-w & s-wfias wfmm

(Inter-Services Establishment) 7&f 27

(@) ot wfgm srrrerft (sifred 2fm
TeheH)

(b) TEH & HBGH
(c) TEH & HETeETeE

(@) T @ Fafa weleeE (I
e e Fw)

7o, Prefifa # ¥ FR-m wH Wik dka

qEER 87

(@) T =
(b) IR =H

(c) IS W Aew

(d) THEAR <5k

80. W™ AT & fEeft T8=1 FE 1 gEey

Trferftga # | T @ W 37
(a) AR

(b) Hi=

(c) Tereariagm

(d) =3

[P.T. O.
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81. Match List-I with List-1I and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Act/ Event) (Year)
A. Rowlatt Act 1. 1922
B. 8alt March 2. 1931
C. Chauri Chaura Incident 3. 1930
D. Second Round Table 4. 1919
Conference
Code :

(@ A B C D

4 3 1 2

(b) A B C D

3 1 4 2

fc) A B C D

4 3 2 1

d) A B C D

3 4 2 1

82. Consider the following statements about
the Salt March :

1. The Salt March was deliberately
ignored by the European media.

2. The Salt March was widely covered
by the American and European
press.

3. The Salt March was the first
nationalist activity in which women
participated in large numbers.

4. The Salt March impressed upon the
British the urgent need to devolve
more power to Indians.

Which of the statements given above
are correct?

fa) 1, 2 and 4
(b) 2, 3 and 4
f) 3 and 4 only
(d) 2 and 3 only

BLS-E-EDF/67A
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83. In the elections to the provincial
legislatures in 1937 in British India

1.

only about 10 to 12 percent of the
population had the right to vote

the untouchables had no right to
vote

the Congress won an absolute
majority in five out of eleven
provinces

the Muslim League won more than
80 percent of the seats reserved
for Muslims

Select the correct answer using the code
given below.

@
(b)
(c)
(d)

1, 3 and 4
1 and 4 only
1 and 3 only

2, 3 and 4

84. Which of the following statements about
the social base of the Arya Samaj in
British India is/are correct?

1.

It was located mainly in Punjab and
western Uttar Pradesh.

It mainly comprised the trading
castes.

It was much more limited than that
of the Brahmo Samaj.

Select the correct answer using the
code given below.

(@)
(b)
(c)
(@)

1 and 2 only
2 and 3 only
1 only

1, 2 and 3
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81, HE-1 H YH-II ¥ @y gafem Fvm MR

gl & = fow 7T F2 F OER =W Ed TN
ghm
-1 -1

(erterfFam fae) (=d)
A. {ere Wge 1. 1922
B. 9% 6N 2. 1931
C. = 9 " 3. 1930
D. i Me d wdem 4. 1919
e :
@ A B C D

4 3 1 2
) A B C D

3 1 4 2
0 A B C D

4 3 2 1
d A B C D

3 4 2 1

82, T #e & ) H Frfafed Fo W fEw
#ifs ;
1. QM SHEIR ARHET g STeEet

2.

T | = ASRAET R TR o
saReh 3R AR 9 570 Tk |/ A
=myeh faater femm man o)

9% HTE ggel! UpaTel fafafer off, R
Tigenstt ¥ 9t we 7 e fomn)

9% A= 4 Bea | aw yvE sier 6
IRA™T ol 3R fftrer effterr gl
T TawHal B

39 FoEl H 8 HH-8 wE 27

(a)
(b)
(c)
(d)

1, 2 3R 4
2,334
*ad 3 3R 4
*ad 2 3R 3
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31

83. ffew 9wra & 1937 & widw fRurdsa ¥
gAE

1.

T 10 ¥ 12 wiawa S=6Edt $1 & 94
o9 1 AR o

Tl ! HA I T SAMHR & o

R A @ dfT Aidl 7 HIW T TgHa A
forreht 58

Hieeml % forg stfda @2t 7 @ 80 wftwra
¥ e diel W gfem & it fos ww

&

e fog 7 e 1 wEm W v IW g
(@) 1,334
(b) FaE 1 N 4
(c) Faa@ 1 3R 3
(d) 2,334

84. faftw wa & o waw & A =Num %
ey § frefafaa & @ S9-w1/8 Fom a9d

#/&7
1.

I8 EAd: e SR ufvedl IW ey o
Srafea 91|

T gea: A st g of |

T8 FE@ WA H gAN H dga Il
Wi o

= fou MY e 1 WA R wE I gR)
(@ “ad 1 3R 2
(b) HaA 2 3R 3
(¢) Fad 1
(d 1,233
[BLT. 0.
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85. Who among the following is the author

of the book, A Comparison between
Women and Men?

(a) Pandita Ramabai
(b} Sarojini Naidu
(c) Tarabai Shinde

(d) Rameshwari Nehru

86. The fact that the planets move around

the Sun, not in circles but in ellipses,
was first demonstrated by

(a) Galileo
(b) Martin Luther
() Johannes Kepler

(d) Copernicus

87. During the mid 19th century Industrial

Revolution, the average life span of
workers in Manchester was

(a) 17 years
(b) 30 years
(c) 55 years

(d) 62 years

88. George Washington was made the

Commander in Chief of the American
forces

(a) in December 1773, after the Boston
Tea Party

(b) at the First Continental Congress
in September 1774

fc) at the Second Continental Congress
i 1775

(d) by the Continental Congress at
the Declaration of Independence
on 4th July, 1776

BLS-E-EDF/67A

89. Alexander Kerensky was

(@) the head of the Provisional
! Government in Russia before the
October Revolution

(b) a close confidant of Lenin, with
whose help the Czar was dethroned

{c) the head of the Czar’s army

(d) an advisor of Joseph Stalin

90. The Twelfth Five-Year Plan focussed

on inclusive growth. Which of the
following were considered as challenges
for inclusiveness?

1. Poverty
2. Group inequality
3. Regional imbalance

4, Unemployment

Select the correct answer using the code
given below.

fa) 1, 3 and 4 only
(b) 1, 2, 3 and 4
fc) 1, 2 and 4 only

(d) 2 and 3 only
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85. T FHRe fageiv A7 U A7 Y&s + oG
T ¥ FH 37

(@) dfsd W
(b) ARSI g,
(c) s e
(d) T YEE

86. 7% 924 7% U7, ¥ % 91l iR gut 4 42 wiew
<EgEl J d §, Hed Ueel fRed weldfa fem
a17?

(a) TR
(b) R TR
(c) SIEHE FHIR
(d) HIHd

87. 1941 wasdl &% mWew ® Nefie ®ifd F A
B T wftenl Y g stem-omafy e
oft?

(@ 17 =9
(b) 30 a9
(c) 55ad
(d) 62 a9

88. Sl SIMSFET Tl W 1 1 FHH= 1 A%
EEEECICIRICBOIE

(@) A =M 9 % g, feemR 1773 &

(b) WUH WERNE HUE F oRH, Hamr
1774 1

(c) TEd™ Aerd g % <M, 1775 §

(d) WEENE FUE ER/, 4 JAE, 1776 i
aal Sl 99T % gHy

BLS-E-EDF/6TA

89. IfiEISt FIEh! B 7

(@) FES HA ¥ 95 ®4 il 3FfT TER
% TUH

(b) @R * ufvg favamum, R meg |
R ! el | IAR T AT

(c) TR U1 THH

(d) SE% @ifed % TF Teesr

90. WREdl U=AYld ASHI F Hx-frg wHEEh

foprE o1 wEfm 6 gfEt % e F
FrafaRaa 3 & &1 9 mn?

1. /e
2. TR FEETEl

3. &1 FEgeH
4. ST

= fo U g2 1w =l W g
(@) a9 1, 3 3R 4
(b) 1,2,33R4
() @ 1, 2 3R 4

(d) Faa 2 3R 3

[P.T. O.
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91. Which of the following statements are
correct about ‘Saakshar Bharat’ scheme?

1. It is a centrally sponsored scheme
which was launched during the
Eleventh Five-Year Plan.

2. The scheme applies to women in
particular and disadvantaged
groups in general.

3. The scheme applies to persons
above the age of 10 years.

4, The scheme is anchored with
Panchayati Raj Institutions and
Local Self-Government.

Select the correct answer using the code
given below.

(@ 1, 2 and 3
(b) 2, 3 and 4
(¢) 1,2 and 4

(d 1,3 and 4

92. BRICS Summit, 2016 was held in
(a) Brazil
{b) China
{c) India
(d) South Africa
93. Which country signed a Memorandum of
Understanding with India for promoting

the production of Pigeon peas/Tur and
other pulses in July 20167

(a) South Africa
(b) Syria
(c) Egypt

(d) Mozambique

BLS-E-EDF/67A
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94. Which of the following statements
relating to the powers of the President
of India is/are correct?

1.

The executive power of the Union
shall be vested in the President.

The executive power shall be
exercised by the President only
through officers subordinate to
him. '

The supreme command of the
defence forces of the Union shall be
vested in the President.

Select the correct answer using the code
given below.

(@)
(b)
(c)
(d)

1, 2 and 3

1 and 2 only
1 and 3 only
3 only

95. Which of the following statements
regarding Article 21 of the Constitution
of India is/are correct?

1.

Article 21 is violated when the
under-trial prisoners are detained
under judicial custody for an
indefinite period.

Right to life is one of the basic
human rights and not even the
State has the authority to violate
that right.

Under Article 21, the right of
a woman to make reproductive

choices is not a dimension of
personal liberty.

Select the correct answer using the code
given below,

(@)
(b)
(c)
(d)

1, 2 and 3

1 and 2 only
1 and 3 only
2 only

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

91. WIE 9Rd AN & FrY | Efafed § @ 94. YRA % UpUfa it wfedl & wm=ry 3 freafaiea

HH-8 HYT T 87 H ¥ BA-T/A Fo T B/R?
1. I8 T& oz IS I 8, 8 e 1. 99 i wEUes ke wgala #
T IS % SR TR TR man o il

2. T A fa9m ww @ Afgensdi iR
TTE: Sfed agE W an] 2 2

3. TR ANA 10 96 ¥ Al g & AREAl
TR AL At R

4. I8 A TEEd U9 weensdl iR vy
W WA W TG 7

2. TgHld gA R iy iRl
e o € FHE9TAs Wik 1 99 T
ST |

3. 9 Hl W TSI H HAE HHRY

(supreme command) g4 # ffEq
el

F fiw o 2 1 = W@ IR gh R e 5z 1 wm = wd I i
(@) 1,2 313 (@ 1,2 3R 3

(b) 2,334 (b) Fa 1 3R 2

(c) 1,234 (c) Faa 1 3R 3

(@ 1,334 (d) %ad 3

92. BRICS T =ieM, 2016 =& smEifa gan

95. YRd % HfAgH * =98 21 F =Y A

” Frafafaa & @ F9-91/8 w97 w8 2/37
o 1. geas 21 =1 Afawau @« gl B, =
(@) STSfE fommondia el =t afafea ey &
(b) ferw = feraa # T o St 21
' 2. Sfied 1 SRER T FYRYT HHATUFR
(c) wd % IR W =R F fosmao H wlw
(d) <féon TRt Ta % g off 78 7

93. gr—r@zomﬁ%a%mﬁm/maﬂtm

e Tl N G e

W$WWW$WRIH$WQ

FHSAT-TT9 W gEAIER fhu?

3. TR 21 F AHG SHIHD =94 B
# Tl wfeen =1 @R =t

mm?‘l:r: T o= 2
nnnnnnnnn 3 HIYMH g1 o1

= Rt T e w1 @ W wd 7R ghw
(a) faor shieht (@ 1,233
(b) Hifc (b) Faa 1 3 2
(c) To& () ¥@ 13K 3
(d) WSTEH (d) I 2
BLS-E-EDF/67A 35 [BAD .
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96. Which of the following statements is/are
correct regarding Right to Education in
India?

1.

Free and compulsory education
should be provided to all children
of the age of six to fourteen years.

The imperative of the provision of
the Right to Education Act, 2009 is
that schools must have qualified
teachers and basic infrastructure.

There should be quality education
without any discrimination on the
ground of economic, social and
cultural background.

Select the correct answer using the code
given below.

fa) 1, 2 and 3
(b) 1 and 2 only
fc) 1 and 3 only
(d) 3 only

97. Which one of the following statements
regarding freedom to manage religious
affairs as per the Constitution of India is
not correct?

(@)

(b)

(c)

(d)

Every religious denomination shall
have the right to manage its own
affairs in matters of religion except
some minor communities.

Every religion or any section
thereof shall have the right to
own and acquire movable and
immovable property.

Every religious community has the
right to establish and maintain
institutions for religious and
charitable purposes.

Every community has the right to
manage its own affairs in matters of
religion.

BLS-E-EDF/67A

98. Which one of the following statements
relating to protection against arrest and
detention of individuals under Article 22
is not correct?

(a)

(b)

(c)

(@)

No person who is arrested shall be
detained in custody without being
informed of the grounds for such
arrest. '

No person shall be denied the right
to consult, and be defended by, a
legal practitioner of his/her choice.

Every person who is arrested
and detained in custody shall
be produced before the nearest
Magistrate within a period of one
week of such arrest.

The right to protection against
arrest is not available to a person in
jail pursuant to a judicial order.

99. Which one of the following intellectual

property rights is protected without
making any registration?

(@)

(b)

(c)

(@)

Copyright

Patent

Industrial design

Trademark
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96. 9Rd # e & s1fren % R § FrefiRea 4 @
FH-T1/Y HYA a9 B/%?

1

o: ¥ g ¥ ) g & ol o= F
e qw @R eifed Rien &1 wEuE
BT =R |

fiem =1 after afufmw, 2000 F
EYE h AEE @ 5 frmemt § 9
e 3R g sEee sEw B
=TT

A, oo ST wienios gsgly %
IER W o 5l Hewma & TS
e weM i 9 =i

i feu T 2 w1 T T W ghu
(@ 1,2 3R 3

(b)
(c)

hee 1 3R 2
%had 1 3R 3

(d) *ad 3

97. YRd % HAYM % IgER i T F Yoy
1 Tl & oy 7 Frefefaa d§ @ we-m
Y Hel TG 87

(@)

(b)

(c)

(d)

$T TY UIEE H BIER TAH Ik
TIGHE B Y YHIISIE FET B T
FH T ARFR 2|

TS ud 91 Ig fRed 5 Ty 91 =5
3R oTEd g & W@IE 3R o1 5
TfeepR g |

Tw Tfie §ge™ @l uifies ue uni
A % fe deenel f o o9k
b TG 1 ATFR & |

Y% HYEE $ 9 yhfavas FE &
TerEd &l SIRER B

BLS-E-EDF/6T7A

98. IFwe 22 F IF=rid =AReAl Hi FREH 3R
' Ry & wem & gy § fefafag 3§
HH-491 HYA FEl 7L 87

(@) TRER TFT U =afr = e & Fro
¥ 7 WY fomr Afinen § g T
RECIRSILG |}

(b) Toret =t 1 o o % fafy wemesR
T e AR d=E W F ARER
4 afaa 7 form smom)

(c) FRER fpr T qen sifiman § feg @
T &% HARP HI 3Gh TR ¥ &
quTe I 3@y § Fishean afvree & a9y

g&qa ToRam sm@m |

(d) =T AR F T T FAAR - @
T foRdt =3t Bt fRwat @ e
iR 9w 7 2 |

99, Tmafafaa & @ HH-u1 Sifgs duer afysr famn
Tordft dfiertor % wtfar 87

(@) it (Fife)
{b) Wz

(c) STENf fese

(d) =R-fE (AT

37 [ETe.
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100. Which one of the following indices is now
used by the Reserve Bank of India to
measure the rate of inflation in India?

(a)

(b)

(c)

(d)

NASDAQ Index

BSE Index

Consumer Price Index

Wholesale Price Index

101. The Most Favoured Nation (MFN) Clause
under WTO regime is based on the
principle of

(@)

(b)

(c)

(d)

non-discrimination between nations

discrimination between nations

differential treatment between

locals and foreigners

uniform tariff across commodities

102. Goods and Services Tax likely to be levied
in India is not a

(@)

(b)

(c)

(@)

gross value tax

value-added tax

consumption tax

destination-based tax

BLS-E-EDF/67A

103. Amartya Sen was awarded the Nobel
Prize for his contribution to

(@)
(b)
(c)
(d)

104. The

Monetary Economics
Welfare Economics
Environmental Economics

Development Economics

rank of Captain of the Indian

Navy is equivalent to which one of
the following?

(@)
(b)

{c)

(@)

Captain of the Indian Army

Group Captain in the Indian

Air Force

Lieutenant Colonel of the Indian
Army

Wing Commander of the Indian
Air Force

105. Which one of the following statements
is correct in relation to the Indian

Air Force?

(a) It has bases in many friendly
countries.

(b) It does not carry out joint exercises
with any country.

{c) It has a separate Maintenance
Command.

{d) No officer has ever been elevated to

the rank of Marshal of the Indian
Air Force,
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100. T=fefad & & HH-81 guhis Yra ¥ gEEhf

% B A9 F e i fwd §5 g em
T B ST S 27

(@) NASDAQ ¥I&Hih
() BSE ¥=%i®
(c) SHARH o YaHih

(d) I Yo GIHT

101. WTO IEH-4a%1 % aia Faiiees gediel T

(MFN) =1 yrae 55 frgra = snamfia 27
(@) Bl %+ = R-Taadm

(b) Tl % g fasdm

(o) i siv R 3 d frid R

(d) FEGA % == THETH T ()

102. F=fafeg § @ f9-91 yrg ¥ o S0 9

Gfaa A1 o e e R7
(@) TS Ted

(b) HeA aftid

(c) UM W

(d) Taa-EIiE R (SFRATH-sRe o)

BLS-E-EDF/67A

103. 3™ ¥ B T+ 59 Tvw-83 ¥ 9rem F

TTe et R we foram e o7
(@) Wiseh e

(b) FHEEHRR SFH

(c) aTawfig srfema

(d) TormarTes s

104. wRT HE ¥ I W 9 Prefefen § 2

Terges Tmehed B 87

(a) R BT 61 Hed

(b) WIRAE 9T VA1 1 9 A
(c) R HA1 1 AT e

(d) WRdE g A1 1 o i

105. YRd™ 91g &N & ey A foafafas 4 @

HF-A1 F9H F& 27
(a) 35 3 o 3o F enur (31) 1

(b) ¥ TR +ff Tw % Wy g = T
Excild

(c) THH TH YUF JAPHU (WA9) FHS
N

(d) wRdF g o F Fre oft s =
T T IS H1 SAreel gl e T B

_EaLp,
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106. The Indian Navy in October 2016
commissioned the highly maneuverable
fast attack craft INS Tihayu, INS Tihayu
would be based in

(a) Kochi
(b} Panaji
{c) Visakhapatnam
(d) Mumbai
107. Which one of the following sectors is
not affected by the changes made in

the Foreign Direct Investment Policy
in June 20167

{a) Multi-brand retailing
(b) Defence
(c) Private security agencies

(d) Manufacturing of small arms and
ammunitions covered under the
Arms Act, 1959

108. BREXIT refers to the Great Britain
leaving which one of the following?
fa) International Monetary Fund
(b) Commonwealth
fc) World Trade Organization
(d) European Union

109. In which one of the following cities

are the Summer Olympics, 2020 going
to be held?

fa) London
(b) Paris
(c) Tokyo
(d) Moscow

BLS-E-EDF/6TA

110. Who among the following is the President
of Republic of the Union of Myanmar?

(@)
(b)
(c)
(@)

Aung San Suu Kyi
Htin Kyaw
Myint Swe

Henry Van Thio

Directions :

The following two (2) items consist of two

statements,

Statement I and Statement II.

Examine these two statements carefully and
select the correct answer using the code given

below,

Code :

(a)

(b)

(c)

(d)

Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

Both the statements are
individually true but Statement II
is not the correct explanation of
Statement I

Statement I is true but Statement 11
is false

Statement I is false but Statement II
is true

111. Statement I :

The passing of the Coercive Acts made
reconciliation between Britain and her
American colonies virtually impossible.

Statement II :

The British Parliament, having issued
the Stamp Act in 1765, repealed it
later.
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106. 3TESX 2016 ¥ RGN NG I RS 110. $H ¥ RIWR H9 & 7o %1 TE9fd $H &7
gihere ara fis ey Sl INS Ty

Wit = R INS feyg wel e (@) T EH G H
BIT?

gied =a1e
(a) e %
(b) OIS () Frrw
(c) Toemamz™ (d) T B
(d) T

107. Feafafas § ¥ FR-T 89 wou sl ey T :

Hif % 57 2016 & ofadd & waRE :
prf%?sﬁ s : Frafefaa & (2) st & @ wuA §, HuA 1 ek

HUF 11. § SHI o1 1 FEagHIgEs wge Hifvm ik
(a) <g-sie ga fesht 419 R e 2 w1 WM R @ s ghu)
(b) &M =
() Fsht gean weft ol
(@) g AfifEm, 1959 F siafd o e (@) 3 FH FAT-HT T § AR FA 1
Bl T IR MAT-918S 1 i 1 T THEIHRT HUA 11 2
(b) THI HUT T-3EHT T & fobrg FoM 1
108. ¥ fyeq fefofad 4 4 fred oem @ @ 3, T
St BREXIT ¥ defifa 27 ALY P Il
(@) FRIEE 51 FN (c) 519 & Fobeg 9 11 o/6ca 3
(b) TEHSH (d) U1 37 & Toheg M 11 9 3
(c) Tava =R T4
@ % d ‘111, FAAI
109. Freiferias 3 A fora wex & et siafms, wiieh (Fierfia) s & oia 39 @
2020 B ST @ 27 5 R 3w aﬁf{ﬁ IgtEm % =
f s Ho-THeTd oRga: YT & T
(b) Ui FYA 11 -
L fiftn wwe, freY 1765 & v siftfem
(d) TR Tiita foram o, 3 96 § @ fwea = T
BLS-E-EDF/67A 41 [P.T: O
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112. Statement I :

The Poona Pact provided for 151
reserved seats for the scheduled
castes to be elected by a joint, not
separate, electorate.

Statement II :

Dr. B. R. Ambedkar withdrew from
active politics for almost a decade
when the Communal Award was
revoked.

113. Which one of the following statements

about the All India Depressed Classes
Association is not correct?

(a) The All India Depressed Classes
Association was formed in Nagpur
with M. C. Rajah as its first elected
President.

(b) The All India Depressed Classes
Association was not attended by
Dr. B. R. Ambedkar in 1926.

(¢ Ambedkar resigned from the
All India Depressed Classes
Association and formed his own
All India Depressed Classes
Congress in 1930,

(d) The All India Depressed Classes
Association favoured Ambedkar’s
demand for separate electorate for
the depressed classes.

114. Which one of the following statements

about the Justice Party is not correct?

(a) It clamoured for the same kind of
separate communal representation
for the Non-Brahmins as had been
granted to the Muslims by the
Morley-Minto Reforms.

(b) It was patronized mainly by richer
landowning and urban middle class
Non-Brahmins.

BLS-E-EDF/6T7A

!

fc) It succeeded in getting the
provision for 28 reserved seats for
the Non-Brahmins in the Montagu-
Chelmsford Reforms.

(d} 1t supported the call given by
the Congress to boycott elections
in 1920.

115. The Ryotwari experiment in land revenue

was started by

(a) Henry Dundas
fb) Alexander Reed
{c) David Ricardo

(d) Mountstuart Elphinstone

116. Which of the following statements is/are

correct regarding the Preamble of the
Indian Constitution?

1. The Preamble by itself is not
enforceable in a Court of Law.

2. The Preamble states the objectives
which the Constitution seeks to
establish and promote.

3. The Preamble indicates the source
from which the Constitution
derives its authority.

Select the correct answer using the code
given below.

(@ 1, 2 and 3
(b) 1 and 2 only
(c/ 1 and 3 only

(d) 2 only
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112, ¥ 1.

ST il % fog 151 i wrr ¥
T W # ug wEyH o B fefe o
g, J f6 g, Fafeeiea g fen
ST |

YA 11 @

glo o 3Ro IreigH Whhg TG XA
T U SN o AU otem @ g 9, W«
FHEAC SIS T8 fohaT T o

113. 3id e foe +ome wEftoem & an &
Frafafaa § @ F9-a1 97 a9 78 &7

(@) @ 3fem felve @ wEIfGm =
TS AR H ge o, Rk vem faffaa
FEY THo Hio TS 9|

glo dflo Mo g 1926 H 3|
Fiear folve wamg wHIfhey § suftm
ELRLET

FeeHR 1 A R Rike w@Rw
THIfeyH ¥ g=fier ¢ fao sfw 1930 §
wE a Afa few feie g whd
T |

FHia 3few felws wwiew wafmem 3
gfqd 1 ¥ vk FalEwdea 6
{rerEaR I AT 1 wwe T

(b)

(c)

@

114. Sifee" Ul & aR § fefafag § ¥ ¥9-91 F29

el g 8 f

(@ T R-sEE h fm i I yeR F
gy WEEIEE St % T stam
3%, sE1 fF AG-fR gudt % ogm
Afectdt 1 e foran < st o)

(b) T g ¥4 ¥ it y-wfieE ok wEh
TR-FTEI0T WeAH a7f o1 &1 W o7 |

BLS-E-EDF/67A
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fc) T8 HieY-IrHe gurl # R-smami %
T 28 TRféa w1 *1 YEaH SEy 3§
HheTdT 9Ts |

(d) T84 1920 # AT % afewER % R
| I g R T STTew i wme fo

115. -TS § Waard! W 1 yRy Reas g
Tepa TN

(@) T g™

(b) ST fie

(c) sfae et

(d) TSGR WA

116. TRA & WiayW & 2R & ar & F=fifeg 3§
T HH-91/8 FU w8 §/37

1. Iehim w b e ¥ yaddy a6 2

2. TR J| R H s 2, e
WU Tofid s o o s 9rEa
|

3. N 39 Wa 3 A 2, 'l @
Hfaam o1 wifterr wiw e 2|

I o T 2 =1 T e wE e gh
(@ 1,23R3
(b) A 1 ¥R 2
() +aa 1 3R 3
(d) Fad 2
[P 1.0
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117. Which one of the following statements
relating to cultural and educational
rights in India is not correct?

{a) Every section of the citizens has
the right to conserve its language,
script or culture.

() No citizen shall be denied
admission into any educational
institution maintained by the State
or receiving aid out of State funds
on grounds of religion, race or
language.

(c) The State shall, in granting aid to
educational institutions, discrimi-
nate against any educational
institution on the ground that it is
under the management of a
majority community.

(d) All minorities, whether based on
religion or language, shall have
the right to establish and
administer educational institutions
of their choice.

118. Which one of the following statements
relating to the Directive Principles of
State Policy is not correct?

(a) The provisions contained in Part IV
of the Constitution of India shall
not be enforceable by any Court.

(b) The Directive Principles of State
Policy are fundamental in the
governance of the country.

fc) 1t shall be the duty of the State to
apply the Directive Principles in
making laws.

(d) The Directive Principles are
directed in making India an
advanced capitalist country of
the world.

BLS-E-EDF/67A

119, Which one of the following statements
is not correct regarding the Office of
the Vice President of India?

(@)

(b)

(c)

()

The Vice President is elected by
an electoral college consisting of
the elected members of both the
Houses of the Parliament.

The Vice President is elected in
accordance with the system of
proportional representation by
means of single transferable vote.

The Vice President shall not be
a member of either House of the
Parliament or of a House of the
Legislature of any State.

The Vice President of India shall
be ex officio Chairman of the
Council of States and shall not
hold any office of profit.

120. Which one of the following constitutional
authorities inquires and decides in
case of doubts and disputes arising
out of election of the President and Vice
President of India?

(@)
(b)
@

(d)

The Supreme Court of India
The Election Commission of India
The Parliamentary Committee

The High Court of Delhi
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117. ¥Rd H WEpfos oK dfdms aitmrl % a) &

Tefafad # | -1 Fo o 7 27

(@) AT & T a7 A qud s, fAf
A HEHI I ST T T IIYFR B

(b) T 3R UG 91 Tsa-FfY | Farar
F I TRt $iftres deam § R oft
arifen =t o, Yefy 91 9w % oER W
wou o @ SRa T8 R s

(c) e FEMAT B FEEA YW A 1,
s el D wee % afd 5 emew
T % I8 TRl Sgees TR % ye
% 31tfiF B, WeWa Sy

(@ =9 =1 ww fedt o sft smunfm wsh
FCTEEIH! AT w1 & Dt geymt
WO A R F A HEE H
iR |

118. =¥ il Hfifd & TRys-aal & w=y #

Frefafaga # | SH-91 99 H8l A8 27

(@) ¥RG & GEgH % 90 IV § e
Iy fordt oft =mamem R veddlg T
Hufl

(b) <F % WA B T FH Aifd F Fews-aa
T ¢

(c) TSA %1 Fg Hded g Fob g sm
Frevrs-aw A @R

(d) TRus-gw, wa = B & @ =@
GShardl 3 59 % fog ffde 7

BLS-E-EDF/67A

119. YRd & SWEIA & HEed $ gy 3

Tfaiaa 3 & FH-a1 He adt 78 37

(@) ¥92 & 3 Gl & FEifg o= 3
a9 9 T Fefewiea gr
IR w1 Fatea foram s 2

(b) SWgdla %1 Fafew smgufes sfifife
TG % FIER THS EHAUE HA 5 gRT
[EZIES IS

(c) STEIG THg & foredt ff g7 =1 a1 foredt
T4 & faumdesd & 9ed &1 g5 1d
B

(d) WW&WW@TWU&#
|9Tafd B 3R 1 1 1 98 R &
T |

120. ¥Rd & A R IWweld ¥ fafm § 32

gl AR fyeEl & ame & sy ofr fioly
Frefafaa 4 4 feg aifufs ot g
fopu T &7

(.a) RA 1 I=qH T
(b) ¥Ra =1 THatem smEm
(c) wesa afifa

(@) g 3= =mre

[P.T. O.
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A aF UH T T Gt @ied R T e WG q" a9 7 @il

Z.&ft. . : BLS-E-EDF Tfieror giereT IgsA
FmEen (158453
e g A
AN WA
AH [
aHT ; qF "o YUTih : 100
#AFIW

1. uﬂmm@ﬁﬁagﬁm,mgﬂnﬁmgﬁmﬁmmmﬁ%gﬁaﬁéﬁmw,mm@
T U8 e YW afd 7 A0 AR ¥ R, @ wd wdem giee @ wee o)

2. F9 I & fF OMR IR-T5% #, 3R wom W, s TR 3R e giwrw sgew A, B, C o1 D =,
mﬁ@ﬁmﬁmq&mﬁdﬂﬁ%uﬁaﬁtwmﬁﬁﬁ@wmﬁ%lﬁwﬁaﬁmﬁ
o /R ft e § sw-usw e s R s

3. 3@ vl IR ™ @Y A Ry T HEE A AR S SR
fa 2 whem g ® iR go A foE|

4. 3@ e yfw 4 120 W (3e) fw R v v R ol otieft I B B 1 e W A IR g
(3?11)ﬁqm%lsﬁﬁ@waﬁfﬁﬁ,ﬁ%mm-mmaﬂ%mmaﬁ%%wﬁamaﬁtmaﬁ%m%
T SR T %, T 38 g A AR S S e o | e T o A e o E g g

5. U A Wi TR Fem § Ry T sw-ws w o s w #) sw-we § g e @l

6. @l gl % 37 WA &

7. T e P A whew giEE 3 RS T S ST W iR F IE R, SO T -1 6
I RY F gER $9 e Iw-wE A R

8. =9 A Wit T F IW-TF T T F qQ a1 T F G T HAA IW-TAR aefieres o G | TR I
T qhewr giRmR & SR A S R

9. &= HW ¥ Ty T wdew gferm 6 o § wo gl

10. 7o I & fore Tus .
wegie Tt # weiean g Ry T e st % g gvs T smem
(i) oo e 5 T =R Aweue wet ¥ | SEficar SR YA T % forg e e w e 3w % g we ¥g e e

T S w1 Tw-TawTd °vs % w9 W FHel S| :
(id) q&aﬁéznﬂaan@%mw%m%,ﬁsﬁmmwm,wﬁﬁqmsﬂﬁﬁﬁ@wuﬁam%,
Rt oft 39 WA F fore Sedeigan € s @R W evs T smem
(ﬁ)ﬁﬁmmﬁéwmﬁﬁwm%, et Iefieam gr SR @ o S @, @ 36 WA F fog e gue
Q|

T q% AU 98 Uhen giemt G 7 %El W 7@ qe% 7 Wi

Note : English version of the instructions is printed on the front cover of this Booklet.
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